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SECTION—A
( Inorganic Chemistry )
( Marks : 27 )

1. ww Tecol I Sferer . 1x3=3

Select the correct answer :

(Gf (2T TSPTRA R(eAgH WPAfE AT & 2
. The electron affinity values of halogens
are of the order
. @w F>Cl>Br>I
(ii F<Cl<Br<lI
(i) “Cl > F > Br > I
(iv) ‘Br > Cl > F > 1



(bo PCl; © TEd (A1 TP %
The hybridization involved in PCIS is
() sp’ |
(it) sp°d
(i1) sp3 | ,
(i) sp®d” |

(c) weTe fal (RoPTRT T Wa T R

The correct order of melting points of the
compounds givenn below is

(i) NaCl < NaBrw< Nal < NaF
(ii) Nal < NaBr < NaCl < NaF
(iiij NaF < NaCl < NaBr < Nal
(iv) .NaCl < NaBr < NaF < Nal

2. TEq PPREI Ted I I%3=6

Answer the following questions :

() oo fre SR R g [eE R sy
N G R e

Write down the electronic conﬁgurat}bh
of each of the following two ions and find
out the number of unpaired electrqj}s :




() CRENT @ARS WAk CaF,, CaCl,,
CaBr, WI® Cal, 7 foqw Cal, wizers
(TR T2EAE | IR weefia |

Among halides of calcium, i.e., CaF,,
CaCl,, CaBr, and Cal,; Cal, is most
covalent. Explain with reason.

(¢ VSEPR ©@ 7¥® XeF, WYa wipfe. fefy
| 0 | |

Using VSEPR principles, predict the
structure of XeF,.

3. R @ qht e Tew < 3Yex2=7

Answer any two questions :

(o SRR R IR R ge TWe g {2
Gbl (T RO SR &, 447 HFNeae
oo @R 1 PRI T | 1+%+3=3Y%

What do you mean by ionization energy?
What is' its wunit? Why the second
ionization-energy of an element is higher
than that of first ionization energy?

¢ FREIETHEE w5 g e
AR 71 I RN 4s N 3d EFAS
A IRFS] (HCHR WY+ T Fefy 41 |
1+1%+1=3%

What do you mean by effective nuclear
charge? Calculate the effective nuclear
charge for 4s and 3d electron of cobalt
atom .n the basis of Slater’s rule.



(c)

Ryederer FF QA ? HAAG-4'5'F ﬂﬁ?ﬂq
e IR B Rygedred @ Sfrear 7
(3’1 =& APIE = 0- 72 A) ¥5TAnS (F

REREE RS ESCRICHC IR Yh+2+1=3Y%

|

What is electronegativity? Calculate the
electronegativity of fluorine. using
Allred-Rochow equation. (Covalent

radius of fluorine =0-72.4)) Sulphur is”

more electronegative than phosphorus.
Why?

4. R @I P! 29 TB I 3Y4x2=7

Answer any two questions :

.,
-~

4

() Wmmm?mﬁw%?wiaw

(b)

FATOF 8o_S 2 (@FCWME TSR (e ?
SRR A 40 | 1+%+2=3%

What is dipole moment? What is its
unit? How does it effect the‘polarity of @
molecule? Explain with example.

0, oo e FEfed g om0, WY
) @ OE pIem of Frfaa w1 2+%r1=3%

Draw the molecular orbital energy
diagram of O, molecule and determine
its bond order and magnetic property.



(cr (R =S e R Ju 7 3of-(zA9A HFA TR
@A oy o R a1 517 sHe W
@R @y WfeY IW @R—NaCl o<
CsCl? 1+2+%=3%

What do you mean by lattice energy?
How is it determined with the help of
Born-Haber cycle? Which- wof the
following has more lattice energy—NaCl
or CsCI?

5. 57 G e (R e ord). | 2x2=4

Write short notes on.(any two) :

(ay RGN T
v Hydrogen bonding
(B) TS

Fajans’ rule

() TR
Resonance



SECTION—B

N
( Physical Chemistry ) N
( Marks : 26 )
6. W% TeACh! AN Tferea 1x3=3

Select the correct answer :

(@ o B THwl wed @ TwEeme (@R
20 (TP SIS FRA I

A gas cannot be liquefied if the
temperature of the gas is greater than

() TP Tl
critical temperature
(M) AR T@

N~

Boyle’s temperature
(iii)  ZEI TS

transition temperature L
(iv) RN TR
absolute zero temperature AN
T

(by Tae@) I w0l Aol ORI I

- With  rise in temperature vapour
pressure of a liquid

() FNIW
decreases

(it A0 I

: increases

(iii) - A AP

remains constant
(iv) MRS T FhRE 2/1F

may increase or decrease



o T RGO TR A GFF (PRS-
FQIE R TA

Number of atoms per unit cell in a
simple cubic crystal is

i 4
(i) 2
(i) 8

o) 1

7. (@) I (b) I T T4 :
Answer either (a) or (b) :

(@ () =3 AfeE ANPET [ 9Bl S (oI
; GF WS A G PRI ToAe
411 2
With the help of kinetic gas
equation, deduce an expression for

total kinetic energy of one mole of
an ideal gas.

-~

(i), (72T SR SRR @91 e & g o
27°C T®mOS SO, (@ "W
SRS (39 o 1 | 1+1=2

What do you mean by most
probable speed of gas molecules?
Calculate most probable speed of
SO, gas molecules at 27 °C.



(i) (TEE SR SSHYRAT (39, TG @9 WS
TG J9e (I HFARCH! SCHY 47 |

Write the relation among most
probable speed, average speed and

root mean square speed of gas
molecules.

(b) () AT oy T (orRF SR o[ RS
(TYSA[ IR o1 Srad el | S (o=
ANFIOR S-S JPCER T
SN T ACE (P PR ? 1+2=3
Mention two causes of deviation of
real gases from ideal behaviour.
How did van der Waals correct the

volume term of ideal gas equation?

(i) . S (= cvae &R e we %9
Pfe WAR O 499 R®| e BRR
SReSlE %3 TS O 49T W 43R
= - 1#1=24
For an ideal gas, define molar heat \
capacity at constant volume and at . . .
constant pressure.‘ Why molar heat
capacity at constant pressure is
higher than that at constant
volume?



8. R (I Yol PR TWY 39 : 4x0=8
Answer any two questions :

(@) O9 TR RN FNFER [ GO FAER

T 90 | (TS (@ R, =§ 3+1=4
™ PV, 3
Derive critical constants from van der
Waals’ equation. Show that RRJE
EVe 3

(b) e AR ST Sy T | ©F T e[
AT o[/ ARER TANS HAPIECH! Sl
90 | @3 FAPINONR TA@bronfs 7 1+21%+%=4

State the law of corresponding states.
Derive reduced equation of state from
van der Waals’ equation. What is the
utility of this“equation?

(©) () CRIIATS @A YR W Tl
B @oqe (IF IOl (e S
PCI? 2+1=3
Explain how viscosity arises in a
gas. How the viscosity of gases
depend on temperature and
pressure?

(u) g o] AfScor Sray T | 1

State the law of equipartition of
energy.

- — —



e

9. (a) I (b)T TEq F9! :

Answer either (a) or (b) :

(@) (i)

(1)

OIHq TSl B1FT @ I 1 3Yrq S
GFF o721 | fAoeeR Armel 3UFEEels (@fe

399 1+1+1=3

Define coefficient of viscosity of a
liquid. Write its (SI¢ unit. Why
viscosity of glycerol is more than
that of ethanol?

FIFINTS AL BIRS [T a1 o<
B[S TSRS Al SFE A5l HR[S O]
R OB O o ) ORI £ o o S 0
1205 @FS IF 49-5 (29| IW
il WE TES TIHROR 293 K
Taeere e ¥ 0-9982gcm™ ° WF

0:792gcm™° =W UF e Twow

| ofelid AMTel BIRFI I 1-005 cp =W,

ASICEUG IR CIRCE G (DR B | 1AC R K
e foiefd 41

In a viscosity measurement
experiment, the flow time of same
volume of water and an unknown
liquid in a Ostwald viscometer is
120-5 seconds and 49-5 seconds
respectively. If densities of water
and the unknown liquid at 293 K



are 0-9982gcm~ 3 and
0-792 g cm™ respectively and the

coefficient of viscosity of water at
that temperature is 1-005 cp;

calculate the coefficient of viscosity
of the unknown liquid.

(b) (p IR “POFA WG il | oS @B
g I oD *[SF Il G | 1+1=2

Define surface tension_ of a liquid.
Show that surface (temsion and
surface™ energy has the same
dimension. ' ™

(i) ~RrweiEe ©w@@ oM, Mg e G
T AFRMSCO] I AT | 3

Explain. drop number method for
determination of surface tension of
a liquid.in. the laboratory.

10. (a) 7 (b)3 TTF T4~ 5
Answer either (a) or (b) :

(@ () o= ks e & q@ 2 9 ohe
GCe TR To8 e %:2:1@1%_\‘5
SS1 FCI | TS A oS el 41 |

L 1v4+1%=3

. “What < do -you mean by Miller

- ~indices® A “prystal plane has

- ~Intercepts on the three axes of
ciystal in the ratio 32:2:1

Determine the Miller indices of the
plane.



(f 2 FIBe oI 99 TR 9
* 9|

Describe briefly the structure of
sodium chloride crystal.
(b) (i) O COI foral : g 142=3
Write short notes on:: g
(1) aAfoT %
Axis of symmetry
(2) If-ETE
. Born-Haber cycle
(i) @B Rowm T md X (e =9
27) @ f.c.c. WA “HoE A T | AW
X 33w 2-7gem™° W (@ X I
G (A Oy R 2 2|
A “certain solid X (atomic mass 27) \ !
crystallizes in f.c.c. structure. If the 1

density of X 1s 2-7gcm'3; then
what is the unit cell length?




SECTION—C

( Organic Chemistry )
( Marks : 27)

11. (o) Toe aes Sa) 391 4909 e 1x4=4
Arrange the following as mentioned

(# NHj,;:CH3NH,,(CH;),NH
(FRFRER  B@Te /in increasing

order of basicity)

(# CH,,  CHaCH,, (CH,),CH,

AN

(CH3)5C -

(ffFTeR W@ NS/in  decreasing
order ‘of stability)

R e ) e j
(iii ~~NO,, —COOH, —F, —CNN; —
('—I SRR %Wg@ﬂ@/ in d‘eycrea‘sing
order of —I effect) *

vy CICH,COOH, HCOOH,
. FCH,COOH, CH,COOH

(TeR BR&ES /in increasing order
of acidity) *~



(b) &R PLTIRA Teq 91 (R @I wifor) 11/2x4=6?_

Answer the following questions (any

foun) :

(} SO, @ &7 3EFaCeNg W JHITHCI ?
SO, acts as an electrophile. Why?

(i) 1-KEfaete 2-[Eha @k FE) 2T
SREARAG ARSI T |
2-Butene s more stable than
1-butene. Explain it* with the help
of hyperconjugation.

(i TR B2 foorce e Beicets A
| o Raefe s @t 7

What. are carbenes? How singlet
and  triplet carbenes differ each
other in spin arrangement?

C ) 2-F AR @fRe 3-3T AR
w o GRTElS Sl AR | R AT T

than = 3-chloropropanoic acid.
Explain with reason.

) @RS TORT emsgctmf%m.n
Write a short hote on mesomeric

effect. ,
i /

2-Chloropropanoic acid is stronger

i aa O

e b A Sl i

ok e e i

el i s s s e s




12. R @I BIGR Tex w1

Answer any four of the following :

() SRS WE SE@An  R[oswes e o
RO FICO1T s Aty s15Ch! Sl

4
Define the terms conformation" and
conformational analysis. Draw~ the

structure of . the most stable
conformation of butane.

3x4=12

- (b) "wes TrIReT @B oIS GBIt e A1

Convert the following as directed :

CO,H
6 ,Jqﬁi < P Aeees
Ph OH i N e e
to Fischer projection
CH3 -
) &Y °©F ST (B3TS Srerea
{ii) J G SRS
S H OH to Newman staggered
CO,H conformation’
o HN O SR e acerta
()  Ph
iy to Newman staggered,
o OI?HS projection



() TR GRS TWEAMRE CIP 2T T
91 :

Assign the following configurations by
CIP system :

CGH;
CH3z C,H
. N P 2115 ..
(1) c=C i OH
C,l/ \H. () H
| Ph"
CH3 co,H

mH '
I ' ’ \. i’ ¥
NH, . _ o

(iii)

(d) Y Ol forar
Write short/ notes on :

(i) oA oe
Plane of symmetry

(i) &R R \

Racemic mixture

(e BT afewq AP SRR e 4 |

a2

Draw all the optical isomers of tartaric

acid. Why is meso-tartaric acid optically
inactive?

.

-




13. (@) ¥TI-WOR WA w4 2-fiui T (R (110 e A
sl 2

Prepare 2-methylpentane by
Corey-House synthesis.

(b) {3 wfog e (R e Eﬁ[)_— 1/4x2=3
What happens when (any twol—
() wRaw doRkbes To TR THEe

T PR,
sodium acetate is heated with soda
1}me;

(i) n-RSG AlCl; ¥ THEfss 300 °C
Taifore SR,

n-butane is heated in presence of
AlCl; at 300 °C;

(ii) S TS VAT (FOICARAN (P
ice Ted 9 Teoiite (@99 SEReEd
16T ?
bromoethane is heated with

. magnesium metal in dry ether and
the resulting product is hydrolyzed?



( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Write the answers to the separate Sections

in separate books

SECTION—A

( Inorganic Chemistry )
( Marks i 27 )

1. @%m?ﬁ*ﬁ\:ﬂ

Select the correct answer :

1x3=3

(@) Na, Mg, AL Si T 2% GRAPT o7 &

(b)

2

The firstionization energy of Na, Mg, Al
and Siare in the order

(ii)
(iii)
(i)

Na<Mg<Al<81
Na > Mg > Al > Si
Na>Mg<A1<Si
Na > Mg > Al < Si

PCly © FHFHMHF MFI A

Hybridization of phosphorus in PCl is

[Ua

(iii) sp°

sp* (i) sp°d

(iv) sp3d2




(c) ITTI IPTOR IR 7
Hardness of ice is due to
() G A
Hydrogen bonding
(i) SBsRE H-Ira
intermolecular H-bonding
(iii) SBsHRF H-Ira

intramolecular H-bonding

(iv) S TR 9 e

van der Waals’ forces

2. 9 PR Ted fua 2x3=6

Answer the following questions :

@ C, N J&, 0 I "I fes @
C < N > O3 weefia |

Ionization energy of C, N and O follows
the ‘order C < N > O. Give reasons.

(b) VSEPR a4 “Rl XeOF, I SR 71 31 |

Explain the shape of XeOF, from VSEPR
theory. :

(c) Tavee aiFerete @R Arm B9, ram 40 |

Glycerol is more viscous than glycol.
Explain.



& BT BB AR bs RT3

—
—

Answer any three questions :

(a) cobra FreR TRl @ HEE SRAE 4s, 3p OF
3 2EAR A IREI) G SFRA i
91 1+1+1=3

Calculate the effective nuclear charge for

4s, 3p and 3d electron_of chromium
atom on the basis of Slater’s rule.

(b) SRR *fE Jeicetr e e ? e @
Wﬁ%ﬁ%@ﬁmqm@ﬂﬁ|
FIREPTZ T 41 14+2=3

What do you'mean by ionization energy?
The second ionization energy of lithium
atom is very high as compared to its first
ionization energy. Explain with reasons.

(c) oI (e Rgeserer e & o2
SEEC-IE’A NI TR I RS
Rrpedaer T+ Tfered | .

(3R TS PR =072 A) 142=3

What do you mean by electronegativity
of an element? Calculate the
electronegativity — of fluorine  using
Allred-Rochow equation.

(Covalent radius of fluorine =0- 72 A)



(d) Y O fom

4. R @ BRG o Teg 79

Write short notes on

() AR gy S

Pauli exclusion principle

(i) T A

Hund’s rule

Answer any three questions :

(a)

(b)

woe Rl SRR WRE., SERGA R
forar | 3201 I OF pFRI 4 Ty 90

Write down the molecular orbital
configuration of the following ions and
mention their bond order and magnetic
properties :

N5, O

() R e g & g@ e
What do you mean by lattice
energy?

(i) \CH, (109-5°) I “<1 NHj (107°) (&
o NH, 9 *[1 H,O (104 - 5°) ¢31 qraf
@1 e BN I | PR WA |

- Bond angle decreases from
CH, (109-5°) to NH3 (107°) and NH;
to H,O0(104-5°). Explain with
reasomn. -

172x2=3

3x3=9



(C) W QNP PP Q¢ ? W PH %‘7 Wcla
FATO TS 2 (FCICA AR (TAR 2 1+Y54 11,

What is dipole moment? What is itg

unit? How does it affect the polarity of 5
molecule?

(d) OeTS Tl SREPTEE AW o foral ;. 1+141=3

Write down the resonating structure of
the following ions .

=3

NO3, CO3~,RCOO™

SECTION—B
( Physical Chemistry )
( Marks : 26 )

5. 3% ©es¢ol 41 Se1edl : 1x3=3

Select the correct answer :

(@) 25 °C-Taors Perow ITAT O APl S
R
The “liquid having lowest vapour
pressure at 25 °C is

() FHEAChEARS

carbon tetrachloride

(i) @S
benzene
(i) FIFA |
chloroform
(iv) ==

water



(b) Wammﬁmmwm«wﬁq
SN 2']

(c)

In a face-centred unit cell, an atom at
the face-centre is shared by

(1)

(11)

(iii)

(W)

4 9 (T

4 unit cells

2 &3F (N

2 unit cells

1 9FF PR

1 unit cell

6 TP (P

6 unit cells

QBT (5102 S (51RIM(F S5 FI9

A gas behaves like an ideal gas at

(i) ~Ewoiel §F Fy Twore

(it)

(iii)

()

high pressure and low temperature

TH LS| HFE OH HINS

high  temperature and  high
pressure

oo S Ow Twere

low pressure and high temperature

oo o fow Sweere

low pressure and low temperature



" = S

6. & e foE51 e Tag o -

Answer any three questions :

(@) CTRF SO AT TS e[ 4 Topemmm
40|

Derive Boyle’s law from “kinetic gas
equation.

(b) S TR IR H9F a WF b I SI 93 fe7d1 |
et Sifes wer(e Ty 944 |

Write the SI units:of van der Waals’
constants a and b. Also mention their
physical significances.

(c) PR (BT e SIF SIS CollT A7
' ol ~A12<y feri

Writé two differences between crystalline
solidsand amorphous solids.

(d) TR TS S AH! (@A e 2,
125 41

Explain how the viscosity of a. liquid
varies with temperature.

7. R e fofb ey Ted 91 3x3=9

Answer any three questions
(q) T TS R s gl 7 IR FRES o
\goiqe THE] SF B ASE I 9 1+2’_;{f};§

S - 5



What is collision frequency? Explain the

effect of temperature and pressure on
collision frequency.

(b) (I SHfCTGT ANFID! 92 I, (G @
~ aﬁuw*fcmmcp—c,,:a 3

Using the kinetic gas equation, show
that for an ideal gas C, - C, =R.

(c) @b =y wiEE wag e & @2 oS
—T@ﬂ&ﬂWmW@ﬁemmRT 9
PV, 3

1+2=3

What do you mean by a critical state of a

gas? With the help of critical constants
RT, 8

PV, 3

of a gas, show that

(d) () @Brcord el Taeel IfaT e Fal Mo
TR | R P 2

Viscosity of a gas increases with
increase in temperature. Explain.

(i) n ¥4 (1%] 3@ ©F T G ANPIECH!
forar | 1

Write van der Waals’ equation for n
moles of a gas.



8. R (@A @B o T fed 4

Answer any one question :

(a)W@mmﬂm%w?ﬁwmm |
S<eTd BT el 1 Ao e T 1 1434

What do you mean by the surface
tension of a liquid? Describe the method
of determining the surface tension of a
liquid in the laboratory.

(b) () CAFE T TEHS GIF o TS
@ Ty 9 2d, @bl SuIRIeR AT
341 | 2
Explain _with an example, how
parachor 'value can help to
determine the structural formula of
a compound.
(i) TwI JF WBHARE TR ST O
A B9 (FCANCS TS I AR BT | 2

Explain how vapour pressure of a

liquid depends on temperature and
intermolecular forces of the liquid.

e 9. R @I @bl oF TSI T 4
il Answer any one question :
@ () <= obe oE when ww feferEe

2a, - 3b, - 3¢) (T (A FRCE | GR
w4 T e e P 232 2,




A crystal plane intercepts the
three crystallographic axes at

(2a, - 3b, - 3c). What will be Weiss
and Miller indices of the plane?

i) wHe W wie «e @ I & q@? 2

What do you mean by crystal lattice
and unit cell?

(b) () T PO e o HPES HAPRS
G cEnREoCRIES I 3

Calculate the packing efficiencies
of simple cubic, lattice and
face-centred cubic lattice.

(i) = HHPNE 2 1

What are liquid crystals?

SECTION—C
( Organic Chemistry )
( Marks : 27)
10. @O AT e T4 1x3=3

Answer the following :
(a) TR FFCH T CTORA SHIRSLE JFF 2

Which of the following carbocations is
most stable?

+ + +
CH,CH, , (CH,)5C, Ph—CH, , CH,y



(b) HA, HB % HC fef01 a5 37 o159 pk, 1
T &N 2-22, 3-51 9F 2-72. 9 fofRom
3004 WIfHF OITOR SREFTS foral |

pK, values of three hypothetical acids
HA, HB and HC are 2-22, 3-51land 2- 72
respectively. Arrange these acids in the

\ ‘ increasing order of their acidic
strengths.
(c) oo WAERT [/ bl 3g FiZd E ol
fiCarEizs Ay e :

Select one electrophile and one
nucleophile from, the following :

CH;CH, = NH,, AICl;, H,0
11. & @i oo ere Tes 341 2x3=6

Answer any three questions :

(@) SfoR@Eme WE far P e
SfeReAIer® FARR0! S |

Define hyperconjugation. Draw the
possible hyperconjugative forms for
propene.

\ (b) IR == wi3fe wige fordl |

\ Give definition of carbene and nitrene.
% (c) IHFEAY e e WH AfFroR @ A
:'. ] 5 1 | :

Define carbanion. Mention its reactivity
order and shape.




(d) @B SRl TR aRes weRe

RIS C3H,0,N. afRTHR o= s foran
i€ [UPAC % fua o

A monocarboxylic acid having molecular
formula C3;H,O,N is optically factive.
Write the structural formula of-the. acid
and give the JUPAC name of it.

12. R @ 951 2 Teg 391 IxD=4

Answer any two questions :

(a) S EEE ‘I FTFICAGCG! P
A R O SR (3PARCE)
H-*[/N190a fofze 4 | »

Draw the". ‘chair’ conformation - 6f

cyclohexane and show the axial and
equatorial H-atoms of it.

(b) FRCEEA ACFAY W RS I R
FPRCNT AITZ S A Tl | RO PR

TR QR IRI ?
with the help of Newman projection
formula, draw the possible

conformations of ethane molecule and
give their names. Which is the most
stabLe conformation of ethane?



(c) oo T A (FUENR BIE 791 e
(T s B e B D B LG R E 16

SR TR S
Identify the chiral centres of the

following compounds and draw., their

possible optical isomers with the help of
Fischer projection formula :

() CHsCH,CHNH,)COOH
(i) CH;CHOHCOOH

13. R @ ol 29 Teq 41 OxD=4

Answer any two questions

(@ R ST Ml woTe AR HRiEf e 7 :

Assign R or .S “configuration of the
' following :

( NH, (i) Br——+—CH,OH

CH3 CHj W

(b) SoTE IR WSRO SIS TN TIPTR

e wF CIP Aifes 7REe E A Z eI
341 :

CH4OH - CH,CH3 |

Draw the possible geometrical isomers of
the following and assign E or Z with the
help of CIP rule :

CHj

(i) CH3CH,C=CH(l)

(ii) CH3CH=C(C1)CH2C1




(c) @R TG RiFmdr e ffn we 29
erai3fe sasen 3541 |

State nitration of benzene and explain
the mechanism of this reaction.

14. R A1 o1 o9 T A0 ox2=4

Answer any two questions :

(@) ¥ TI-TATH FATR FZTS 1= CATH 2O 1 |

Prepare n-pentane ‘with the help of
Corey-House synthesis. "

(b) CFabcee, RS o e b1 Sz A

Staté Saytzeff rule and give one example
of it "

(c) OER RTEFACAT A= 4 :
Complete the following reactions :

: Hg?*
(ij HC=CH + H,O > ?
H,SO0,, A

(ii) C,HMgl + H,O —>



15. oo Rigaeaa =9 w2 (R e =6) - 1x6=6

Complete the following reactions (any siy :

Br
‘ : AN
(i)  CHy—CHCH,CHj + KOH (alc) ———>2
(i)  C,—CH=CH, + HBr — %57
. .2:/,'
... GCHy 1
CH, 2) NaHSO; (alc) |
EL —— 'ﬂ
(iv)” + HySO4 R, —>? ;

(v) HC=CH D9 s --
2) Zn/HyO" ,

(vi) CH;—C=CH * Bry ——>?
OH |

A

M) +7Zn —>7?

Br Br

||
(viii) CH3——-C| -——(|3—-CH3 +Zn— 7
Br Br

* kK




